2 M : Marks , L: Bloom’s level C Caurse outcomes.

: - Module 1 - & ,
il Illustrate the structure and function of microtubules and add .a note on 10 | L2 | CO2
covalent modification of microtubule proteins. Gy ; ' ol
Compare and contrast cytoskeletal elements. 10| L2 | CO3 |
-~ OR ey [
Q.2 Plasrnalemma / Plasma. rhembrane should exh1b1t ‘permeability and 10 | L3
dynamicity. Elaborate it with physicochemical propertres
Enumerate the structure and function of power, house of cell. 10| L2 | CO1
Module —2 = '
Q.3 Cells undergo a series of events to form a new cell Outline. 10| L2 | CO3
' Nature as a. dynamlcrty of producing two daughter cells with equal | 10 | L3 CcO3
drstrrbutron of genetic material comment the detailed process
N .
Q.4 In detall explarn the cell-cell signaling pathway of Eukarx_tlc cell 10 | L3 | CO2
Compare and contrast the apoptosrs pathway w1th its salient components.. 10 | L2 | CO3
_ Module -3 7
Q.5 Drfferentrate between passwe active and facﬂrtated active transportatron 10| L2 | CO3
with examples. nr
Distinguish between endocytosrs and exocytosrs wrth specral emphasrs on|10 | L3 | CO2
membrane trafﬁckrng A, i1 8
¢ OR e : . A
Q.6 Explain the mechanism of Vesrcular transport from golgr apparatus to | 10 | L2 | CO2
mitochondria. ) o
Elaborate the mechanism of vesrcular transport f_rom endoplasrnrc ret1culum 10| L1 | CO3
l to golg1 complex. , 4 A ,
¢ Module —4
Q.7 " ,}}(Mendel as postulated »»g;ouple of theories to explam inheritance demonstrate | 10 | L2 | CO1
‘the law stated by Mendel taking suitable example k
Describe all the experrmental proof to suggest DNA in a genetrc material. 10| L2 | CO2
£ .«OR,'{:f“ t
Q.8 If both the alleles of a character are equally dominant in gene expression | 10 | L4 | CO3
and as multiple alleles for its trait- relate the situation taking a case study.
Stating law explain the . compllmental gene interaction with suitable | 10 | L3 | CO2
example. - s il s
Module — 5 :
Q.9 Failure in separatron of homologous chromosomes leads to anomalies | 10 | L2 | CO2
elaborate Ry '
Recessive genes for colour and clotting factor as an impact on inheritance | 10 | L2 | CO2
pattern substantrate
OR
Q.10 Elaborate: the sex determination in animals taking a suitable example. 10 | L2 | CO2
Justlfy the statement mutation results in novel genetic variation. CO3
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